Combining like terms

Like Terms

S.b*"'l‘-ful Cofw,
H.‘blntb‘h pewer oF

Varible — lowes b
‘ppw;r BL uhr.‘ﬁ.l’blt.

Simplify: 2x* +3x+ 7 +4x + 5 + x*

3T 4% 4120

Simplify: 4y* +2+5y +4y +8y*+5
llyl + ‘iy +7]

Translating an English Phrase to an Algebraic Expression

Operation Fhrase Exproasion

Adcition A phus b w4 h
-—
the sum of 2 srd D
—
i mormanag by b

& rmore than ¢

the total of @ and b

b added o

Subtraction @ minus b a=h
tha aineence of a and &
i .'h_-];dﬁ'knil!r o
b lpaathan @
b subtracted from a

Multipication it times b a « b, ab, a{b), @)}
—_—
tha product of @ and b
=
twice a Za
—_—

Diivlgion a divided by b a+b,alb, &, bTa

the quotient of a and b

the ralic of o and b
i

b divdad njga
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Translate each English phrase into an alegbraic expression

a) the difference of 17x and 5 [7‘)! -5

e lox
b) the quotient of 10x? and 7 lox =7 =

c) the@of 17y? and 19 ”\/14' 19

d) the product of 7 and z Ve

1

e) Seventeen more thany Y+ 17

L
f) Nine less than the product of nine and x squared q){ = c|

g) five time the the sum of mand n 5(»"" *’)

h) the sum of five times m and n Sm¥n

g) the difference of two times x and eight ;Z)(-?

h) The length of a rectangle is six less than the width. Let w
represent the with of the retangle. Write an expression for the
length of the retangle. Widkth = w

Lfnéb'ﬂ = LJ‘((

i) Lauren has dimes and nickels in her purse. The number of dimes is
three more than seven times the number of nickels. Let n represent
the number of nickels. Write the expression for the number of
dimes. nieltels = n

Aimes = NS
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Summary

Justin’s car insurance has $750 deductible per incident. This means
that he pays $750 and his insurnace company will pay all costs
beyond $750. If Justin files a claim for $2,100.

a) How much will he pay? “ﬁ'?SD

b) How much will the insurance company pay? & | 00 -7 SO

| 350
Simplify:
3(149-6) —4° @3+@
315916
TR A

3(s55)-1¢

6516 27

144
4= 4 +6(3 +6)
y. 3 L]%QC&)

2 LY +S54
L
7350 59

32 18+ (11—75)
G-18: (1I-5)
4-18 %G
-5
o
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What you will learn about:
Add and Subtract Integers

Use Negatives and Opposites

Opposite of a Number

Same Rumber on
the opposbe 3itv
OL Tte

Opposite Notation
-t ofpﬂ‘a.'&:!. Ca

——

|
1
0

Negative numbers T Positive numbers

Numbers to the left of zero are neagative and numbers to the right
of zero are positive. Zero is neutral and is the only number that is
not positive or negative.

Moving to the right numbers get bigger and moving to the left
numbers get smaller.

Order each of the following pairs of numbers using < or >

142 6 1<9 1.4 2 D 2

Samelimgs in Sgetrs he same Symbol kas differsn! meanings. Just like some words 0 Engish, the soecific meanng Desomes clasr
by locking at how # is used. You have sesn tha symi b-.l *~" used in three diffarent ways.
10=4 Between two numbers, it indicates the operation of subtruction
We read 10 = 4 as 10 minus 4.
-8 [n front aru uumhef l :D(lln..![c-\ 2 negarive number
rcal H 'as ucl. ahive c:giﬂ
- In fromt of a vanable, it indicates the oppoute. We read —x as “the opposite of x.™
- (=2} Here there are two "~ " signs. The one in the parentheses tells us the number is
negative 2. The one outside the parentheses wlls us 10 take the opposire of -2
Weread = (-2) as “the opposite of negative two,”

17| Page




Integers

Sgb 0‘- hl.ml.ﬂi"
me l\.o!-'-b -zif-faj whale]

C/UO Ffl- chisns //}D
Decim.,[;)

Absolute Value
Df b'&ﬁ\\'\t.g.- 'p(w "y
Zcro on a

Vi m bn— ’.'n.r.'..

Numbers and cp,pn-'bhEvalutate —x when x = -8

Evaluate x when x = -8 -3
~(8)= 8
~-(8)~ -9

Evaluate —x when x =8

&

?m': > T
Evaluate:
13] |—44| [0] —|25]
2 by o =25

Fill in <. > or = for each pf the following pairs of numbers.

7___—|-7 —(-10)__—|-10]
72 -7 o 7 -—lo

-4 — |4 1 <

b 7 = -l
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Adding Integers

Simplify

24 — 19 —3(6 — 2)|
au- [1a-5 (9]

a4 - ll‘i—lﬂ\
Cau- |7
Add: -1 = 1]

1+4
5

B8+.2
(0

And than we add 3 positives.

19 — |11 — 4(3 — 1)
la- | 11-4(2))
15- | 11-3)

B, I§->
15 - 13 "
ol )
-5

-8 +(=2)
~ 1D

lgfi'w-




5 + (-3 means the sum of 5 and -3

W slart with 5 posives.

And then we add 3 negatives

We rrmove any heutral pars

W have 2 positivas lef

Thesumof Sand -3 a2, 5+-3=2

Add:

~1+45 1+ (=5)

| -4

-2+4 2+ (—4)
C -2

>3 137 +(-53) —74+ (=27)

-6 — 1o}

-31+ (-19) 15 + (—-32)
~50 ~ 11

~54+3(=2+7) —42(~3 +5)

_54_5(_5) “‘1’1(1)

-5 +IS -84
10
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Subtracting Integers

AJdL oppe~te

We start with 5 posfives.

‘/ 3 S
, . {
We ‘take oway' 3 positives ] g
< =
-

We have Z posfiives lafl
The difference of & and 3 is 2 2

J - | Armi | t g > =

N OOOC
Ma start with 5 mogaties Ouuut\)

sisienidirain oldlolele
OC

Wa have 2 negatves hoft

The difference of -5 and -3 s -2, <

Subtract:

7—5 =7=1=8)

74(-3)
2N -2

12 -8
Y - — 12 +(4)

. -
CAENGIEM
o N o IO
00 11 o061 By (1
Y I Ta)
o WYY OO O
Wi B
o
] 1) ] ]
" .8 regaines W, \
—
- SET
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We now add the nesded nessirs

Wie rermovn the 3 nogatives

We are lalt with 3 positives

The differance of S and -3 is B

Subtract:
—3—-1

-4

—6—4
~ 0

Simplify:

13—-8

5

—-17-9
-0

-

= pars

5 - [-3) maans 5 take away -3

)

O
O

QOO

-l

8 paositives

3-(-D

6 — (—4)
10

13 + (—8)
s

—17 + (—9)

-9
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Simplify:

9 —(—-15)
24

7—(—4-3)-9
7-(-1N)-4
1“-9
s
—12+ 2|3 — 4|
—1a+2 -
~1ar2L0
~)>t2=-[D

6—38+27+(-8)+126
324727 F(-%) +12L

-S F(-3) 1
=13 Y126
32_42 Il-b
G-l = -]

~7 - (—4)
-5

18—[2—17|
18- 1-51
18-5
1D
—14+ (—18) + 10
-~ DA +ID
-22

32 - [5 — (15— 20)]

- [5-(-9))
d2-L 0]
22

In June 2011, the state of Pennsylvania estimated it would have a
budget surplus of $540 million. The same month, Texas estimated it
would have a budget deficit of $27 billion. Use the integers to the

budget of Pennsylvania and Texas.

y enn

sy 0} oLb, L

T‘(.K S ]

7

—-2,1 OV, 000, 50D




Multiplying Integers

What you will learn about:

How does it work

5(3) =5N-3)
take away 5, 3 times take away -5, 3 times

@900® 0OO0O0O0C

90900® 0OO000C

¢

Q0000

¢

What's left?

@000® O000C
Q0000
0000

15 negatives 15 positives
5-3)=-15 [-3N-3) =15

MULTIPLICATION OF SIGNED NUMBERS

Fnr muipICEtan af fus BIgnen R iR

Same signe Product
T preltives Posilive
Twe negathed Foeitive
Different signs Product
Prauters  neQative Napmne
MNogadive  poakive Megntne

Multiply and Divide Integers

Examole

1.4 = 24
Hi=6) = 4§
Examphe

)] =i

=8 [1] -5}
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Multiply by -1

Divide Integers

Multiply

=27 lo - >x 43,

MULTIPLICATION AND DIVISION OF SIGNED NUMBERS

For multipcation and division of two signad numbers:

= [f the signs are the same, the result = positive

« [f the signs are diffsrent, the result is negative

Same signs Result
Two positives Positive
Twao negatives Posstive

If the signs are the same, the resull is positive.

Differant signs Result
Positive and negative Negative
Negative and positive Negative

i the signs are differant, the resull is negative.

Simplify

7(-2)+4(-7)—6 9(—-3)+7(-8)—1
-l F A~ =27 +(-5b) -]
-5 -1 -- ‘5‘-1

-2
ENANEANEAE

-9-3 —2(-5) 4(—8) 7-6
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Simplify

12 -3(9-12) 16 — 6(7 — 13)
Ll & l-?)\
oue V"
2
w/ “) 7 12(-9) + (-3)3 -30+2 4+ (=3)(—7)
Evaluate the following whenn = —=5
2x* +3x+8 —3x*—2x+6

Translate Phrases to Expression] Trasnlate and simplify the sum of eight and negative twelve,
with integers increased by three

Translate and simplify the differnce of negative eight and negative
twleve, increased by nine.
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